
Họ và Tên: Lời giảiSo sánh phân số

Toán Học vn.CommonCoreSheets.com
1-9 89 78 67 56 44 33 22 11 0

C â u  t r ả  l ờ i

1. C

2. C

3. A

4. D

5. D

6. C

7. C

8. A

9. C

Xác định đáp án nào phù hợp nhất với các phân số trong hình.

1)

A.
1

>
6

7 2

B. 7 > 2
1 6

C.
1

<
6

8 8

D.
8

>
8

1 6

2)

A. 5 > 3
3 5

B.
3

>
5

8 8

C.
3

<
5

8 8

D.
5

<
3

3 5

3)

A.
7

>
5

9 9

B.
9

>
9

7 5

C.
7

<
5

2 4

D.
2

<
4

7 5

4)

A.
2

<
1

4 4

B.
4

>
4

2 1

C.
2

>
1

2 3

D.
2

>
1

4 4

5)

A.
6

>
6

5 3

B.
5

>
3

1 3

C.
5

<
3

1 3

D.
5

>
3

6 6

6)

A.
4

<
1

6 6

B.
4

>
1

2 5

C.
4

>
1

6 6

D. 2 > 5
4 1

7)

A.
2

<
4

4 2

B.
6

>
6

2 4

C.
2

<
4

6 6

D.
2

>
4

6 6

8)

A.
2

<
6

8 8

B.
2

>
6

8 8

C. 6 > 2
2 6

D.
8

>
8

2 6

9)

A. 2 > 3
6 5

B.
6

<
5

2 3

C.
6

>
5

8 8

D.
8

>
8

6 5
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C â u  t r ả  l ờ i

1. C

2. C

3. A

4. D

5. D

6. C

7. C

8. A

9. C

Xác định đáp án nào phù hợp nhất với các phân số trong hình.

1)

A.
1

>
6

7 2

B. 7 > 2
1 6

C.
1

<
6

8 8

D.
8

>
8

1 6

2)

A. 5 > 3
3 5

B.
3

>
5

8 8

C.
3

<
5

8 8

D.
5

<
3

3 5

3)

A.
7

>
5

9 9

B.
9

>
9

7 5

C.
7

<
5

2 4

D.
2

<
4

7 5

4)

A.
2

<
1

4 4

B.
4

>
4

2 1

C.
2

>
1

2 3

D.
2

>
1

4 4

5)

A.
6

>
6

5 3

B.
5

>
3

1 3

C.
5

<
3

1 3

D.
5

>
3

6 6

6)

A.
4

<
1

6 6

B.
4

>
1

2 5

C.
4

>
1

6 6

D. 2 > 5
4 1

7)

A.
2

<
4

4 2

B.
6

>
6

2 4

C.
2

<
4

6 6

D.
2

>
4

6 6

8)

A.
2

<
6

8 8

B.
2

>
6

8 8

C. 6 > 2
2 6

D.
8

>
8

2 6

9)

A. 2 > 3
6 5

B.
6

<
5

2 3

C.
6

>
5

8 8

D.
8

>
8

6 5
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